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fotal 3 marks)
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Disgram NOT

3em accurately drawn
o 20em

— 4om —>

‘Work out the volume of the triangular prism.

(Total 2 marks)
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11. There are 300 people in the cincma.
%am;mmhmm
% of the 300 people e girls.
The rest o the people are adults.

‘Work out how many people are adults.

(Total 4 marks)
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13, Anil wants to find out how many DVDs peaple buy.

He uses this question on a questionnaire.

How many DVDs do you buy?

1-5 s-10 10-15 15-20

‘Write down two different things wrong with this question.

1

(Total 2 marks)
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16, Workout 3 x 27
i)

Give your answer in its simplest form.

(Total 3 marks)
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17. @) Factorise  3r=12

® Sove  4@x-3)=5r+7

© Expndandsimplity 7+ 4)0+5)

(@ Factorise fully 8+ 125

(Total 8 marks)
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22. The table gives some information about the delays, in minutes, of 80 flights.

Delay

(n minutes) Frequency
0<n<20 16
0<n<30 2
0<n<d0 »
a0<n<so 10
S0<n<60 s

(2) Wite down the modal class interval.

)

(b) Complete the cumulative frequency table.

Delay
(nminutes) | Frequency

0<n<20

0<n<30

0<n<40

0<n<s0

0<n<60

)
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21. Solve the simultancous equations
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(©) On the grid opposite, draw a cumulative frequency graph for your table.

@

(@) Use your graph to find an estimate for

() the median delay,

(i) the interquartile range of the delays.
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Delay ( minutes)

(Total 7 marks)
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2. Here are the weights, in grams, of 16 cggs.
a7 4 0 s 4 6l 5

8 s6 57 41 55 6

Draw an ordered stem and leaf diagram to show this information.

‘You must include  key.

58

(Total 3 marks)
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Dizgrem NOT
accurately drawn
P 0 ®
PORis a straight line.
PT=PQ.

(@) Work out the value of y.

(i) Give reasons for your answer.

(Total 4 marks)
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7. Anna and Bill share £40 in the ratio 2 : 3

‘Work out how much each person gets.

(Total 3 marks)
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Triangle T has been drawn on the grid.

Rotate triangle T 180° about the point (1, 0).
Label the new triangle A.

(Total 2 marks)
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Work out 4.52 x 36





